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Which is the standard equation of the circle with center
(8, —2) and radius 3?

a (x+8)P2+ (y-2)2=3

b. (x =82+ (y+2)>=9

¢ (x+8)2+ (y-272=9

d (x-8)2+ (y+2)2=3

Find the center and radius of the circle with equation
X4y —dx + 6y =23

a. center (-2, 3); radius 6

b. center (—2,3): radius 36

¢ center (2, —3); radius 36

d. center (2, —3); radius 6




[image: image2.png]4. The number of noncollinear points needed to describe a

planc is
a. one b. two
¢ three d. four

Use this figure for Questions 5-7.

5. Another way to describe ZBAC is

a. LBAE b. LBAD
22 d. LBAF

6. is between A and D.
a AC b. point C

) =

¢ point B d. AF

7. AD  biseets BAE. If mil= (3x - 2)°
m£2 = (4x = 7)°.then mLBAE =

a 5" b. 137
e 30° d. 26°

and

Use the figure below for Questions 12-15.

12.

4.

o

s

o

o

LCAE
LBAE

LCAE
LBAE

LCAE
ZBAE

LCAE
2 BAE

C
D

B A E
is an acute angle.

b. ZDAE

d. LBAD
is an obtuse angle.

b. LDAE

d. LBAD
is a right angle.

b. ZDAE

d. ZBAD
is a straight angle.

b. ZDAE

d. LBAD

Use this figure for Questions 16 and 17.

P [




[image: image3.png]Use the figure for Questions 8-11.

8.

9.

10.

11

SHEVANS

P 0
A pair of vertical angles is
a. Zland 22
¢ £SRV and LVRQ

R

b. £SRQ
d. Zland 23

A pair of complementary angles s .

a Zland 22
. ZSRV and LVRQ

b. £SRQ and £ TP
d. Zland 23

form a linear pair.

a. Zland 22
¢. ZSRV and LVRQ

b. £SRQ and LTPQ
d. Zland 23

are congruent angles.

a Zland £2
¢. ZSRV and LVRQ

b. £SRQ and £TPQ
d. £STPand 2SRQ

16. If PO = 3x + 7, QR = 4x — 2,and PR = 61, the value

of xis .
a8 b. 31
c 30 d. 7

17. If PO =5x +6, QR =Tx — 4, and PQ = OR, then
PR =

a. 62 b. 5
31 a7

18. AB has endpoints A(7, —8) and B(—3. 10). The coordi-
nates of the midpoint of AB arc .

. (5.-9) b. (4,2)
e @1 d. (10.-18)

19. The midpoint of CD is (7 —2). One endpoint is C(9, —8).
The other endpoint is

a. D(11,-14) b. D(-2.6)
e D(5.4) 4. D(8,~5)
20. The distance between points G(—2, 3) and H(4, —5) is

2.2V2 b. 100

e VI0 d. 10
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Choose the best answer choice.
1. The perimeter of a square that measures 5 inches on a

side is:
a. 25in. b. 10in.
€ 20in. d. 255q.in.

2. The area of a rectangle that measures 5 yards in length
and 2 feet in width is:

a. 105sq.ft b. 105q.yd
e 345q.6t d. 305q. 1t

3. The exact circumference of a circle with a diameter of 10
meters is:
a 107 m b. Smm
e 1007 m d. 257 m

Give the next two terms in each list.

4.1,2,4,711,...

a. 18,29 b. 16,22

€ 22,44 d. 32,64
5. 1,-2.4,-8,16,...

a. 32,64 b. ~32,64

. —48.96 d. 64,128
Identify the hypothesis and conclusion of each statement.

6. Pianists are musicians.

a. Hypothesis: A person is a musician.
Conclusion: A person is a pianist.

b. Hypothesis: A person is a pianist.
Conclusion: A person is a musician.

¢ None of these

7. Dogs are retrievers.
a. Hypothesis: An animal is a dog.
Conclusion: An animal is a retriever.
b. Hypothesis: An animal is a retriever.
Conclusion: An animal is a dog
. None of these.

Use the conditional statement, “pine trees have needles.”

8. “If a tree is not a pine tree, then it does not have needles™

is
a. the converse b. the inverse
. the contrapositive d. None of these

9. “If a tree does not have needles, then it is not a pine tree™

is
a. the converse b. the inverse
e. the contrapositive d. None of these
10. “If a tree has needles, then it is not a pine tree” is

a. the converse b. the inverse

. the contrapositive d. None of these

Use the conditional statement, “trucks have four-wheel drive.”

11. “If a vehicle has four-wheel drive, then it is a trucl
a. the converse b. the inverse
¢ the contrapositive d. None of these

12. “If a vehicle is not a truck, then it does not have four-

wheel drive” is
a. the converse b. the inverse

. the contrapositive d. None of these




[image: image5.png]13. “If a vehicle does not have four-wheel drive, then it is not

a truck”is
a. the converse b. the inverse

<. the contrapositive d. None of these

Use the following statements for Questions 11-12.

All good skiers wear helmets
Emily is a good skier.
If you wear a helmet, you concerned about safety.
Erick wears a helmet.

14. What conclusion can be drawn using only the Law of
Detachment?

a. Erick is a good skier.
b. Emily is a snowboarder and a skier.

¢. Emily wears a helmet.

d. Erick is a snowboarder that wears a helmet.

15. What conclusion can be drawn using only the Law of
Syllogism?

a. Erick is a good skicr.
b. Emily is a snowboarder.

c. If you wear a helmet, you are a good skier.
d. All good skiers are concerned about safety.

16. Choose the negation of the statement: An acute angle
measures 135°.

. An acute angle does not measure 135°.
b. An obtuse angle measures 135°.

¢. An obtuse angle does not measure 135°.

d. An acute angle measures between 0° and 90°.

17. Which of the following is a good definition?
a. Tables have exactly four legs.
b. Computers have screens.
¢ Aliter is close to a quart.
d. An inch s a unit of measure that is exactly 2.54 centi-
meters long.
Name the property that justifies each statement.
18. If 6x = 72, then x = 12,
a. Addition Property of Equality
b. Symmetric Property of Equality
c. Division Property of Equality
d. Transitive Property of Equality

19. If AB = DE.then AB + CD = CD + DE.
a. Addition Property of Equality
b. Multiplication Property of Equality
¢. Division Property of Equality
d. Transitive Property of Equality

20. 1f2x — 5 = 27, then 2x = 32.
a. Addition Property of Equality
b. Multiplication Property of Equality
¢ Division Property of Equality
d. Transitive Property of Equality

21. If AB = CDand CD = 15,then AB = 15.
a. Addition Property of Equality
b. Multiplication Property of Equality
c. Division Property of Equality
d. Transitive Property of Equality
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1. Coplanar lines that do not intersect are
a. parallel planes
b. parallel lines
c. skew lines
d. none of these

2. Noncoplanarlines that do not intersect are.
a. parallel planes
b. parallel lines
c. skew lines
d. none of these

Use the figure to answer questions 3-10.

3. 41 = /5by
a. Same-Side Interior Angles Converse
b. Corresponding Angles Converse
¢. Alternate Interior Angles Converse
d. Alternate Exterior Angles Converse

4. 27 = /5by
a. Same-Side Interior Angles Converse
b. Corresponding Angles Converse
c. Alternate Interior Angles Converse
d. Alternate Exterior Angles Converse




	[image: image7.png]5. £7and £6 are supplementary by

a. Same-Side Interior Angles Convers

b. Corresponding Angles Converse




[image: image8.png]¢ Alternate Interior Angles Converse
d. Alternate Exterior Angles Converse




[image: image9.png]6.

9.

If £10 = £8.then n||p by

a. Same-Side Interior Angles Theorem
b. Corresponding Angles Theorem

c. Alternate Interior Angles Theorem
d. Alternate Exterior Angles Theorem

If £1 = £9,then np by

a. Same-Side Interior Angles Theorem
b. Corresponding Angles Theorem

¢. Alternate Interior Angles Theorem
d. Alternate Exterior Angles Theorem

If £16 = 22, then n|p by

a. Same-Side Interior Angles Theorem
b. Corresponding Angles Theorem

¢ Alternate Interior Angles Theorem
d. Alternate Exterior Angles Theorem

If m£3 = 75° find the value of x for which || p.
2165 b. 19.6
.24 d. 136






	[image: image10.png]10. 1fm24 = 110°,find the value of y for which 7 p.
a. 20.6 b. 2525
e 126 d. 1525

11. The slope of the line that passes through (2, —7) and
(8,-2)is .
5

— b.
7%

wilo

wio

o

alu
kY
!




[image: image11.png]12. Find the slope and y-intercept point of the line
4x—2y=1.

a. slope: —2;

intercept: (0, % )

-intercept: (0, ); )

b. slop

e slope:
. slope: —:
=5

-intercept: (0, % )

d. slope: %_ymtcmept: (0, ,%)

Find an equation of the line satisfying the given conditions.

13. Horizontal: through (6. 5)
ay=5 by
cx+y=11 dx





	[image: image12.png]14. Through (4, —7): slopci‘

a 3x—2y =26 b. 3y +2y = -2
-2 d.3x+2y =26

€ 3x -2y

15. Through (6,3); perpendicular to 4x — 7y = 8

Wyl 1
“Y=YE T

4 45
RO S -
cy=-tx+s

16. Line [ has equation 3x +2y = 7. Line m passes
through the points (6, —2) and (0, 7). Lines [ and m are

a. parallel b. perpendicular
c. neither
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1. Which triangle is obtuse and scalene? 4. AABC is isosceles with base AB. If m2C = 22°, what is
a. m/A =130°,m/B =25 . msC = 25 msB?
b mLA = 92°.mLB = 45°,mLC = 43° 2. 79° b. 68°
& mLA =88, mLB = 46°mLC = 46° o2 4. 1367
d. mLA =88 ,mLB = 40°mLC =52 5. ADEF is isosceles with base DE. If m2.D = 22°, what is
2. Which triangle is acute and isosceles? mer
a. mLA = 130°,mLB = 25°.mLC = 25° & Lt @5
b. mLA = 92°,mLB = 45°,mLC = 43° ¢ 1367 d. 220
& mLA = 88, mLB = 46°,mLC = 46° 6. Choose the correct measures for the numbered angles.
d. msA = 88 msB = 40°,msC = 52° a. msl =35 ms2 = 107°

b. ms1 =38 ms2 = 104°
e ml = 55°,mL2 = 87°
d. ms1 =35, ms2 = 127°

3. InAABC,m/A = 46° and m£.C = 16°. Whatis m£ B?

a. 118° b. 44°
e 747 d. 138°

145,




	    [image: image14.png]7. ADEF is a right triangle, with ZE a right angle. If
msD = 27°, what is m£F?
227 b. 63°
¢ 153° d. 53°
8. Choose the correct measures for the numbered angles.
amsl =29 ms2 = 90°
b, ml = 61°me2 = 29°
e mLl =58, ms2 = 61°
doms1 = 61°ms2 = 58
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Look for a pattern and predict the next two numbers. Sl
145710, 108324
a. 14,19 b. 11,13
. & e Choose the best word or phrase to complete each statement.
1111 3. A word that is described but not defined is a(n)
AT —
1 1 1 1 a. theorem b. axiom

A 762486 b. 108216 ¢ undefined term d. defined term





	[image: image15.png]Use the diagram for Exercises 10~15. PC L AE and PC bisects
LAPE and £BPD.
A B _C_ D E

P

10. Suppose AC = 25 and BC = 14. What is the length of
DE?

a 14 b. 11

€25 d. not enough information
11. Suppose BC = 14 What is the length of BD?

228 b. 14

c. not enough information ~ d. 7
12. Which angle is congruent to £ EDP?

a. LCDP b. £CBP

. LABP d. LBAP
13. Which angle is congruent to ZAPB?

a. LEPD b. ZBPC

. LCPD d. LCPE

14. Suppose PB = 27.What is the length of PD?
a. not enough information
b. greater than 27
c. less than 27

.27
15. Which lengths could you use to find the length of BC?
a. ABand DE b. ACand DE

¢ APand AB d. BEand BP




	[image: image16.png]Use the diagram for Exercises 16-19.

16. Given that AH = BH and HP 1 AB.which statement is
immediately true?

a. AAPH = ABPH by SSS
b. AAPH = ABPH by SAS
¢ AAPH = ABPH by H-L
d. AAPH = ABPH by AAA
17. Given that CH = DH and FH = GH, which statement

is true?

a. ACHG = ADHF by SSS
b. ACHG = ADHF by SAS
¢ ACFE = ADGE by SAS

d. ACFE = ADGE by SSS

18. Given that ZECF = /EDG and CF
statement is true?

a. ACFE = ADGE by SAS
b. ACGH = ADFH by SAS
. ACFE = ADGE by AAS
d. ACGH = ADFH by AAS

19. Given that FE = GE and FH = GH, which statement
is true?

DG, which

AEGH by SSS
AEGH by SSA
ADGE by SAS
d. AEFH = AEGH by SAS







[image: image17.png]For Exercises 20 and 21, suppose BD = HK and /B = £H.
20. What additional information do you need to prove

ABDF = AHKS by ASA?
a /D = LK b. LB = /S
e LD = /S d LF = /K

21. What additional information do you need to prove
AHKS by SAS?
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Use these choices for Exercises 1-8.
a. incenter
b. centroid
¢, circumcenter
d. orthocenter

1. Point where a triangle of uniform thickness would
balance

2. Point that is the center of the circle inscribed inside
the triangle

3. Point of concurrency of altitudes
4. Point that is equidistant from the sides of a triangle

5. Point of coneurrency of perpendicular bisectors

7

9.

10.

Point of concurrency of angle bisectors
Point that is the center of the circle that circumscribes the
triangle

Point of concurrency of medians

Find the coordinates of the orthocenter of AABC for

A(—6,2), B(~2.2),and C(=6.—4).
a (-6.2) b. (-2.2)
e (=6.4) d. (—4.-1)

Find the coordinates of the circumcenter of AABC for
A(1,4), B(1,—2),and C(—3,-2).

a (1.4) b. (1,-2)
e (-3,-2) d (-1.1)




	[image: image56.png]9. According to the diagram, which statement is true?
a ALHI = AJTHbySAS 1.
b. ALHK = AJIK by AAS
e ALHI = AJIH by SS$
d. ALHK = AJIK by SAS





	

	[image: image19.png]15. List the sides from shortest to longest.
P

N

R 0
3
R

| 23]

PR,
PQ
¢ OR.PR

d. PO, OR, PR





[image: image20.png]Use the figure below for Exercises 16-19.
R

0
16. What is the length of OR?
.24 b. %
« T2 d. not enough information
17. What is the length of PS?
a 24 b. 9
72 d. not enough information

18. 1f TR = 30 and PS = 40, what is the perimeter of APQR?
2. 148 b. 118

€ 236 d. not enough information
19. If TR = 30and PS = 40, what is the perimeter of APST?
a 148 b. 118
c 236 d. not enough information




	[image: image57.png]Use these choices for Exercises 11 and 12.

a. Tand IT
b. Tand I1T

¢ Iland 11
d. None of the statements are contradictory.

Identify the two statements that contradict each other. Use the
choices above for Exercises 11 and 12.

1. L AABC is scalene.
II. AABC is acute.
IIL. AABC is a right triangle.

12. L AABC is isosceles.
1L AABC s equilateral.
1L AABC is acute.
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Choose the correct name and classification of each polygon.
1.

a. hexagon; concave b. octagon; convex
c. heptagon: convex d. octagon; concave
2.
a. quadrilateral;concave b pentagon; convex
€. pentagon: concave d. none of these

Classify each quadrilateral as precisely as possible.

[\ 0
i In
a. square b. parallelogram
e. rectangle d. none of these
a.
a. trapezoid b. isosceles trapezoid

c. parallelogram d. none of these




	[image: image22.png]5.

a. parallelogram b. rhombus
c. kite d. none of these

Choose the correct values for the variables.

6.
85°
2. x=95y=85 b. x =85,y = 80
€ x =95 70 d. none of these





[image: image23.png]a x=90,y=42z=42
0,y = 48,7 = 42

e x






	[image: image24.png]8. Find the values of the variables for which the figure is a
parallelogram.

a.x=7y=2875 b x =22,y =20
e x=22,y=215 d. none of these

Classify the quadrilateral precisely and choose the correct val-
ues for the variables.

a. kite:x = 27,y = 63

b. rhombus; x = 27,y = 27
=2.y=63
63

c. parallelogram

d. rhombus; x = 27,y

b. kite;a = 2,b = 3
¢ quadrilateral;a = 3,b = 2

d. parallelogram; a = 3,b




	[image: image25.png]11. Find AB, CD,and EF.
21

At 1

a. AB =3,CD = 6,EF =3

b. AB =7.CD = 13,EF = 10
¢ AB =6,CD = 12,EF = 9
d. AB =9,CD = 17,EF = 13





[image: image26.png]Coordinate Geometry Give the most precise name for
quadrilateral ABCD.

12. A(-5,-3). B(1.-1).C(1,3). D(-5.5)

a. quadrilateral b. trapezoid

c. parallelogram d. isosceles trapezoid
13, A(—1,3), B(3,4), C(4.8). D(0.7)

a. thombus b. kite

c. parallelogram d. square
14. A(-3,2), B(-2,-5).C(5,~4),D(4,3)

a. thombus b. kite

e. parallelogram d. square




[image: image27.png]Decide whether each statement is true or false.

15. Al equilateral polygons are regular.

a. True b. False
16. All equiangular polygons are regular.
a. True b. False

17. Every square is a thombus.
a. True b. False
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Solve each proportion.

5) 9%
Tx 12 3
a 18 b3
o8 d. none of the these
5 _30
i)
5
= b. 7
"7
.9 d. none of the these

Use the similar figures for Questions 3-6.
z 6
) ) o
537 - -
3 10|

20

3.

5.

5=
a. 127
« 37

b. 53
d. none of the these

b. 53
d. none of the these

12
5
d. none of the these

b.

b. 6
d. none of the these




	[image: image29.png]Use the figure for Questions 7-11
R

A 3 K P L

7. Ifv = 60 and w = 50, then
a. AARK ~ APBL by the AA ~ Postulate.
b. AARK ~ ALBP by the AA ~ Postulate.

¢ There is not enough information to conclude that the
triangles are similar.

d. The triangles are not similar.




[image: image30.png]8. Ifx =4,y = S,and z = 7, then
a. AARK ~ ALBP by the SSS ~ Theorem.
b. AARK ~ APBL by the SSS ~ Theorem.

c. There is not enough information to conclude that the
triangles are similar.

d. The triangles are not similar.

9. Ifx = 6,y = 7.5,and v = 60, then
a. AARK ~ APBL by the SAS ~ Theorem.
b. AARK ~ ALBP by the SAS ~ Theorem

¢ There is not enough information to conclude that the
triangles are similar.

d. The triangles are not similar.




	[image: image31.png]10. Ifx =5,z = 7,and v = 60, then
a. AARK ~ APBL by the
b. AARK ~ ABLP by the SAS ~ Theorem.

¢ There is not enough information to conclude that the
triangles are similar.

~ Theorem.

d. The triangles are not similar.

1L Ifx = 7.5,z = 105,and v = 50, then
a. AARK ~ APBL by the SAS ~ Theorem.




[image: image32.png]b. AARK ~ ABLP by the SAS ~ Theorem.

¢. There is not enough information to conclude that the
triangles are similar.
d. The triangles are not similar.




[image: image33.png]13. What is the geometric mean of 8 and 207

5
. b. 160
18 d. 4V10

5






[image: image34.png]Use the figure for Questions 14 and 15.

14. If x = 4,find the value of z.
a. 36 b. 16
20 d. 32
15. If y = 8, what are the values of x and z?

ax=42z=16

h.ng\ﬁ,z:S\ﬁ
3 6

ex=4V5z="215

dox=42z=3

16. Find the value of x.
a. 6.75
6





[image: image58.png]13.

.

If AB=6, BC=17, and AC = 10, list the angles of
AABC from smallest to largest.

a LC LB LA
b. £C.LA LB
e LA /B.LC
d. LB, LC.LA
In AABC, AM bisects BC, BN bisects AC, and P is the

point of intersection of AM and BN. Which statement is
true?

a LBAP = LPAC
b. If AM = 24.then AP = 16.
o LAMB = LAMC

d. AP = BP
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1. What translation is described by the rule e A(1,-2),B'(-4.1)
(x,y) = (x =21,y +5)? d. A'(=2.-1),B(1,4)

. 21 units right and 5 unit
N 4. reflection across the line x = 0

a A'(-1,2),B'(1,~4)

A'(2,1),B'(=1,~4)
e A(1,-2),B'(~4,1)
d. A’(=2,-1),B'(1,4)

b. 21 units left and 5 units up
c. 21 units right and 5 units down
d. none of these

2. What translation is described by the rule
(x,y) = (x + 10,y + 7)?

2. 10 units left and 7 units up 5. reflection across the line x = 1
b. 10 units right and 7 units down a. A’(0.-1),B(0.4)
¢. 10 units left and 7 units down b. A4'(3,-1),B'(0,4)
d. none of these € A'(3,-1),B'(3,4)

A'(0,-1),B'(3.4)
6. translation (x,y) = (x — 3,y +3)
a. A'(—1,2),B'(—4.7)
b, A'(—1.2),B'(4,-1)
o A'(5,-4).B'(2.1)
d. none of these

Use the figure for Exercises 3-12
For Exercises 3-11, find the
coordinates of the_endpoints
of the image of AB for each
transformation.
3. reflection  across  the

line y = 0

a A'(=1,2),B'(1,—4)

b. A'(2.1).B'(~1.~-4)





[image: image36.png]7. rotation of 90° about the point (0,0)
a A'(—1.-2).B'(4.1)
b. A’(=2,1),B'(1,—4)
e A'(1,2),B'(—4.-1)
d. none of these
8. rotation of 180° about the point (0,0)
a A'(—1,-2).B'(4.1)
b, A'(=2.1),B'(1,—4)
e A'(1,2),B'(—4,—1)
d. none of these

9. a dilation with center (0, 0) and scale factor +
a. A'(4,-2),B'(-2,8)

(ae(a)
o r(1)

d. none of these

10. a glide reflection with translation (x.y) = (x + 2,y)
and reflection across the line y = 2
a A'(4,1),B'(1,-4)
b. A’(4.5).B'(1.0)
e A'(4,1),B'(1,0)
d. none of these

11. reflection across the line y = —x
a A'(~1.2),B'(1,~4)
b, A’(2.1). B'(—1,—4)
e A'(1,-2),B'(~4,1)
A A(=2.-1),B'(1,4)

12. The image of 4B is shown (see previous page). What type
of transformation maps AB to A'B’?

e

a. glide reflection
b. rotation

¢ translation

d. dilation

Fill in the blank.
13. A dilation is.

a. always

an isometry.

b. sometimes

© never

14. A rotation
a. always

preserves orientation.

b. sometimes

¢ never

15. A glide reflection preserves orientation.
a. always
b. sometimes

© never




[image: image37.png]CHAPTER 9 STANDARDIZED TEST

Use the right triangle to answer Exercises 14.
A

=

c a
1. Ifa = 8andc = 14.find the length b.
. 260 b. 2V65 e 132 d. 2V33
2. IfmsB = 30°and ¢ = 22,find the lengths a and b.
aa=11V3b=11V2
b.a=11,b=11V3
ca=11V2h=11
doa=11V3h=11
3. If mZA = 45°and ¢ = 14,find the length b.
a. 14V2 b. 28 o 7V2 a7
4. Ifa = 9and b = 24,find the length c.
a V33 b. 3V73 < 657 d. 3V55

Given the triangle side lengths, identify the triangle as

a. acute
b. right
¢ obtuse
5. 35in.12in.12.5in.
6. 14cm, 18 cm,22 cm
7. 15m.32m,37m
8. Which set of numbers is a Pythagorean triple?
2. 45,67 b. 3.4.6

d. none of the above

Use the triangle for Exercises 9-11.

17 f : 5V59
A B

2
9. sinA =
o B2 , 2
4 17
oL d. none of the above
2
10. tan B =
u 5V59 b 5V59
42 17
17
e 5 d. none of the above
1. cosB =
WD b 3V
T4 Y
17
e d. none of the above
12. 1f cos D = 0.6624, then
a. D =~ 485° b. D ~ 085
D =~079 d. none of the above

13. A woman on top of azip-line tower notices that the angle
of depression to the base of the next tower, 200 ft away.is
18°. How tall, to the nearest foot, is the tower the woman
is on?

a. 621t b. 616 ft
e 190 ft d. 65 ft
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Use the figure for Questions 1 and 2.

1600 (6x +4)°

(5x+12)

(5w=12)° (Iw +3);

1. If m£1 = 37° find the value of x.

a x =20 b, x =18

€ ox =22 d. none of these
2. Ifx = 24,find mz1

a. 42° b. 75.5°

o 10457 d. none of these

Use the figure for Exercises 3-8.

D 8cm c

3.

5.

‘What is the area of IABCD?

a l4sqem

b. 46 5q em

e 32sqem

d. not enough information given
What s the area of ABCE?

a l4sqem

b. 46:5g cm

e 32sqem

d. not enough information given
What is the area of trapezoid AECD?
a l4sqem

b. 46 sq cm

e 32sqem

d. not enough information given
What s the approximate perimeter of ABCE?
a. 13.7cm

b. 167 cm

¢ 177 cm

d. not enough information given




	[image: image59.png]18. What is the approximate area of the segment indicated
between PB and PC?

a. 0.35q cm b. 195q cm
¢ 16sqem d. none of these

19. What is the approximate area of the sector indicated
between PD and PE?

a. 01sqcm b. 125qcm

e Llsqgem d. none of these

A fly lands at random on AM. Find the probability of the fly
landing on each segment given in Exercises 20-22.

ABCD

GHIJKLM

20. on CG
1 1
a by
2 1
S di
“5 3
21. on BK
a 67% b. 90%
€ 80% d. 5%
22. noton GJ
2. 25% b. 70%

c 80% d. 75%




	[image: image60.png]17. What is the length of AE?

L b BT
.2z, B

297
€ 3 om d. none of these




[image: image61.png]14. What is mBC?
a. 125°
e 35°
15. What is mACE?
a. 145°
e 235°
16. Whatis the length of

Im
a. - -cm

36

I
€ ——cm

18

b. 55°
d. none of these

b. 215°
d. none of these

d. none of these



[image: image62.png]13. The scale factor of AABC to ADEF is 38, If the area of
ADEF is 18 sq ft, what is the area of AABC?

3
a. 1285q ft b 67 sqft

17
2 sqft d. none of these

Use OP for Exercises 14-19.




[image: image63.png]7. What is the approximate perimeter of TABCD?
a 27cm
b. 33cm
. 34cm
d. not enough information given
8. What is the approximate perimeter of trapezoid AECD?
a 27cm
b. 33cm
c 34cm
d. not enough information given

9. A rhombus has sides of length 6 in. and diagonals of
length 4 in.and 11 in. What is the area of the rhombus?

a 33sqin. b. 18sqin.
c 44sqin. d. 225qin.

10. A regular hexagon has radius 12 mm long. What is the
area of the hexagon?

. 108V2sq mm b. 432V3 sqmm
e 108V3 sqmm d. 216V/3 sq mm

11. What is the approximate area of a regular pentagon with
apothem of length 14 ft?

a 712sqft
b. 3016 5q ft
e 13495q ft
d. 1424sq1t

12. The scale factor of AABC to ADEF is 5.7 If the perim-
cter of ADEF is 35 cm, what is the perimeter of AABC?
a 25em b. 49cm

< 17?, cm d. none of these






[image: image64.png]Use the figure for Questions 9 and 10.
9. Find mAB.

a 45°

b. 50° 252 Bl 75°

€ 25°

d. not enough information

given

10. Find m1.

a. 75°

c 625°

b. 100°
d. not enough information given

Use the figure for Questions 11 and 12.
11. Find the value of x.

a5

b. 675

o8

d.2
12. Find the value of y.

a6 b.

3
13. Find the perimeter of the

pentagon circumscribing =]
the circle. Use the red

points of tangency to help 4 cm 7
calculate the missing

length.

2
d. not enough information given

9 8 cm

N/

4em

a. 28 cm
b. 31 cm
€ 32cm
d. 30cm

14. Which figure shows the graph of
(x+1)2+ (y—1)2=4

15.

16.

17.

Which is the standard equation of the circle with center
(8. ~2) and radius 37

a (x+8)2+(y-2)?=3

b, (x— 82+ (y +2)>=9

e (x+8)2+ (y—-272=9

d (x-8)+ (y+2?=3

Find the center and radius of the circle with equation
R4y —dx+ 6y =23

a. center (-2, 3); radius 6
b. center (—2,3); radius 36
e. center (2, —3): radius 36
d. center (2, —3); radius 6

Which is an equation for the locus of points in a plane
equidistant from A (1,1) and B (—1, —1).
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Use the figure for Questions I and 2.

13em

10 cm

1. Identify the figure corresponding to the net
a. square pyramid with base edges 10 cm and height 13 cm

b. square pyramid with base edges 10 em and height
V69 em

¢. square pyramid with base edges 10 em and height 12 cm
d. none of these

2. What is the volume of the figure corresponding to the

net?
a. =433 cucem b. =277 cucm
¢ 1200 cucm d. 400 cu cm

3. Which of the following are possible for a polyhedron?

1. 7 faces, 9 vertices. 14 edges
IL 10 faces, 12 vertices, 20 edges

a. Lonly b. 1 only
¢ both Tand II d. neither I nor 1T

4. What s the number of edges in a prism with seven faces?
a. 21 edges b. 15 edges

¢ 12 edges d. none of these




	[image: image40.png]5. Which figure is not a possible cross section when a
cylinder is intersected by a plane?

a. circle b. square
e. rectangle d. none of these

6. What are the surface area and volume of a sphere with
radius 3 feet?

a. SA = 36msqft;V = 367 cuft
b. SA = 36 7sqft: V = 108 7 cu ft
e SA = 127sq ft; V = 36w cuft
d. SA = 127 sq ft: V = 1087 cu ft




[image: image41.png]7. What are the surface area and volume of a square pyra-
mid with basc edges 8 in. and slant height 5 in.?

a. SA = 144sqin.
b. SA = 144sqin;V = 133 cuin.
€ SA = 80sqin:V = 64 cuin.

d. SA = 80sqin;V = 133 cuin.

= 64 cuin.

8. What are the surface area and volume of a cone with ra-
dius 6 in. and slant height 10 in.?

a. SA = 302sqin; V = 377 cuin.
b. SA = 364sqin:V = 377 cuin.
€ SA = 302sqin;V = 302 cuin.
d. SA = 364sqin;V = 302cuin.







[image: image42.png]9.

11

12.

‘What are the surface area and volume of a cylinder with
diameter 4 m and height 8 m?

2. SA ~ 201sqm; V ~ 402cum
b. SA ~ 126sqm: V =~ 10 cum
¢ SA = 113sqm; V = 101 cum
d. SA ~ 126sqm; V ~ 402cum

A storage tank s in the shape of a cylinder topped by a
hemisphere. The radius of the tank is 10 ft and the height
of the cylinder part of the tank is 30 ft. The top and lat-
eral surface are to be painted with two coats of paint. If
one gallon of paint covers 350 sq ft, how many gallons of
paint must be purchased?

a. 8 gallons b. 18 gallons

e. 15 gallons d. none of these

Which solid has greater volume, a sphere with radius
3 feet or a cylinder with radius 3 feet and height 4 feet?
a. the sphere

b. the cylinder

c. the volumes are equal

If two similar solids have volumes of 648 cu cm and

2187 cu em. what is the scale factor of the smaller solid to

the larger solid?
L

7

18
Wi

c d. none of these

©ls
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For Questions 1-2, lines that appear tangent are tangent.

1. Find the value of x. 48

a0 b3 2
%

d. not enough information
given

2. Find the value of x.
a. 12 b. =109 e 13
d. not enough information given

Use the figure for Questions 3-5.

<)
Yoy
3. FindmZA. ’
A

079 bo68 e 34
d. not enough information given

4. Find mAB.
a2 b. 44° e 11° . 79°

5. FindmBC .

a. 34°

b. 68°

e 1367

Use the figure for Questions 6-8.

6. FindmZ1.
a. 90°
b. 32.5°
207
d. 72.5°

7. Find m22.

. 90° b. 1475° c. 168°
8. Find the length labeled x.

a 135in. b. Gin.

€ 525in. d. 8in.

d. 79°

40°

v " 3in.

105°

d. 1075°
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